










the A6 and A12 for simple cube are calculated in problem 2 in HW#7



(11.10)



or U = U (S, V, N) in other textbooks



To calculate the values of 

, use the values of A12, A6, 

from tables

11.3 and 11.4
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  The cohesive energy for one pair of NaCl is conventionally taken to be the energy needed to separate the ions of NaCl into free ions (Na+ and Cl-) at rest and at infinite separation.



(Madelung energy)



coulomb



for detailed calculation of cohesive energy per NaCl molecule, see problem 4 in HW#7





n1: -100 to 100 ; sum over 200 lattice points along a1 direction
n2: -100 to 100 ; sum over 200 lattice points along a2 direction
n3: -100 to 100 ; sum over 200 lattice points along a3 direction

overall, the sum is over 200*200*200 = 8,000,000 lattice points






